

Completa:

$4\text{D}_y\ 3\text{U} \longrightarrow 43$

$40 + \square = 43$

$4\text{D}_y\ 1\text{U} \longrightarrow \square$

$\square + \square = 41$

$4\text{D}_y\ 5\text{U} \longrightarrow \square$

$40 + \square = 45$

$4\text{D}_y\ 6\text{U} \longrightarrow 46$

$\square + \square = \square$

$4\text{D}_y\ 9\text{U} \longrightarrow 49$

$40 + \square = \square$

$4\text{D}_y\ 2\text{U} = \square$

$\square + \square = \square$

$6\text{D}_y\ 3\text{U} \longrightarrow 63$

$60 + \square = 63$

$7\text{D}_y\ 7\text{U} \longrightarrow \square$

$\square + \square = 77$

$9\text{D}_y\ 5\text{U} \longrightarrow \square$

$90 + \square = 95$

$8\text{D}_y\ 2\text{U} \longrightarrow$

$\square + \square = \square$

$7\text{D}_y\ 5\text{U} \longrightarrow$

$70 + \square = \square$

$3\text{D}_y\ 9\text{U} = \square$

$\square + \square = \square$

$6\text{D}_y\ 3\text{U} \longrightarrow$

$60 + \square = 63$

$4\text{D}_y\ 8\text{U} \longrightarrow \square$

$\square + \square =$

$6\text{D}_y\ 1\text{U} \longrightarrow \square$

$60 + \square =$

$2\text{D}_y\ 7\text{U} \longrightarrow$

$\square + \square = \square$

$8\text{D}_y\ 2\text{U} \longrightarrow$

$80 + \square = \square$

$7\text{D}_y\ 4\text{U} = \square$

$\square + \square = \square$